Homework #24

1. Fill in the table below

	[H3O+1]
	[OH-1]
	pH
	pOH

	8.274 x 10-4 M
	
	
	

	
	3.187 x 10-9 M
	
	

	
	
	1.2789
	

	
	
	
	4.2781


2. Calculate the pH of a 4.293 x 10-3 M solution of Ba(OH)2.

3. A sample of sodium hydrogen sulfate (NaHSO4) is dissolved in water and titrated with a sodium hydroxide solution.  If 14.54 mL of 0.8137 M sodium hydroxide was required to titrate the sample calculate the mass in grams of sodium hydrogen sulfate in the sample.  (Hint:  Write the balanced reaction for the process first.)

